

1. Method-1.

what's we want to get

$$\int_a^{a+T} f(x) dx = \int_0^T f(x) dx + \int_a^0 f(x) dx + \int_T^{a+T} f(x) dx \quad \text{the linearity of integral.}$$

then we just need to prove $\int_a^0 f(x) dx + \int_T^{a+T} f(x) dx = 0$

$$\Leftrightarrow \int_T^{a+T} f(x) dx = -\int_a^0 f(x) dx = \int_0^a f(x) dx \quad (\text{the "-" change the order of integrate interval})$$

here we take substitution $u = x - T \Leftrightarrow x = u + T, dx = du$

and $x \in [T, a+T]$ implies $u \in [0, a]$

$$\text{so } \int_T^{a+T} f(x) dx = \int_0^a f(u+T) du = \int_0^a f(u) du \quad (\text{the definition of periodic function } f(u) = f(u+T))$$

$$\Rightarrow \int_a^{a+T} f(x) dx = \int_0^T f(x) dx \quad \text{done.}$$

Method-2:

Regard $H(a) = \int_a^{a+T} f(x) dx$ is a function defined by this integral, ^{depends on a} then:

$$H'(a) = f(a+T) - f(a) = 0 \quad (f(a) = f(a+T))$$

this implies $H(a)$ is a constant function, so:

$$\int_a^{a+T} f(x) dx = H(a) = H(0) = \int_0^T f(x) dx.$$

2. The only difference is $\sin x$ to $\cos x$. so in order to get the desired result.

we take $x = \frac{\pi}{2} - u$ which make $\sin x$ to be $\cos u$.

$$\Leftrightarrow u = \frac{\pi}{2} - x, x \in [0, \frac{\pi}{2}] \text{ means } u \in [\frac{\pi}{2}, 0] \text{ and } du = -dx$$

$$\Rightarrow \int_0^{\frac{\pi}{2}} g(\sin x) dx = -\int_{\frac{\pi}{2}}^0 g(\sin(\frac{\pi}{2} - u)) du = \int_0^{\frac{\pi}{2}} g(\cos u) du \quad \text{done.}$$

3. For when $x \in [0, \frac{\pi}{2}]$ $\cos x, \sin x$ both lie in $[0, 1]$, and we have $g(\cos x), g(\sin x)$,

In order to make it well-defined, the domain of g should be $[0, 1]$, at least.

